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(Part-1 :  Joi.0) FBP~1~2Y

12 Write short answers to any SIX parts, -ﬂwtmﬂ L’I:ﬂ{c..df -2
32 3.2
Find the lowest term of? I%LL’ IE:—X,- :éﬂﬁd"q}/ﬂ (M
Xy Xy

-,{é'(PdJP(x) LLxm1In P(x)=x*+3x* =sx+9/1 (D
If P(x) = x* +3x% = 5x + 9, then find P(x) for x = |,

Define surd, : -#’-.éf/‘jur("urja (iii)
Factorizo: x? + xy x4 xy YA (iv)
Factorize: a+a <3923 o’ +a~-3a2ad 204 (v)
Define quadratic polynomial. -Gk PO i (i)
[ind HCF by factorization: abxy , a%be abxy , a2be :ép’”ﬁ'l;b{.d&dj (vii)
Find LCM by factorization: 2ab , 3ab , 4ca 2ab, 3ab, dea GBI aiis7 i CviiD)
Find the square root of: 16x2 + 24xy +9y? 16x% %24 xy + 9y? iE 8 N (ix)
12 Write short answers to any SIX parts, -z-.”.n.ym/ﬂ L.-rmgr_df «J
Solve the equation: 5x -6 =4x -2 SX=6=4x-2 1l flunle ()
Define “Solution of Linear Equation” “Soeipa A7 Gi)
Solve the inequality: -3]—x > %(x -1) -%-x > -A-(x =) S S anl 2 GiD
Name the methods to solve a quadratic equafih, NGRS EL S SablaGoisns (iv)
Solve: (x=3)? =4 (x=-3)?=4 :ZES )
Solve by using factorization methods. 2%2 + [5x~8=0 2x% +15x ~8=0 :#U’dfda), (vi)
Define “Transpose of a Mattix” Wil example, -G Sl y S " (id)
— i " 1 ree
[ g L][;J=[_J:a.“u:¢»ﬂf @l;ud;:b{’f,)ﬂ‘i.’q,;(vm)
' ; ' ; -4 17 x|_[!
Write the mateix i, the'form of lincar equation; [ 5 4 = |
Y !
If B=[_g :g] then find B~ G B"?nBa[‘_g :jjfi (ix)
12 Write short answers to any SIX parts. ' ..i.a.ym/’ C;f:ﬂ,;c:..ljf -4

Define supplementary angle. -y RS )

Write the angle marked with letter. Also write
whether the angle is complementary or supplemen tary?

Define congruent triangles. - -y P S S (iii)

\t\ Td}%‘k‘f;_dﬁgﬂe/@m&gﬂﬁ?&{r:Uifq,.J (i)
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Define angle bisectors of a triangle. .g.-'..y/’d'..vc&ug,ua:w (iv)
Draw a semicircle with diameter 4dcm and center at “O”, ..’q.tmfl:...ww:ﬁédwf'f&’ 44,"0", )

A3 AW bia ccm6lbm5 Bt A Al T (VD)
Find the third side of right triangle with legs a, b and hypotenuse ¢ whetherb=5,c =61,

Write the formula for the volume of a cone, & uwub’f L wf Gid)
Describe the location of point (3, 6 ) on the number line. AT A (3, 6) LAUE S (viii)
Find the distance between the pair of points: (7,-2),(-2,3) :;{rk’yuw»&w} (ix)

..u,’!ﬁ"08£Jlrﬂ-iﬁg/jayiﬂﬁwwrwf:_é;‘/cr"um
Part - 11, Attempt any THREE questions, Each question carries 08 marks.

If x =+/5 +2 then find the value of x* +;12~. AT +;1-2—?n x=+5+2 i () 5

Find LCM by factorization: x> +64 , x*-16 e P g i ()
Find LCM by factorization:  x*+y* , x - §ax®+y® -e:-_’{-,h*d/m;‘)’l_,)w (W) -6
otves X=2 X=3o1 X=2 x— 51

Solve: l 3 2 3 4 Q{J (h/)

Solve by completing square faethod: 2%’ —4x+1=0 ﬁf@&)éd/d’f ) 7

(AB)‘=B‘A‘J’£¢<L"?:«B=[‘21 “3]:/\ [ }f ()

If A = {3 ‘gJ v H ”S] then verify (AB)' =B'A'.

X-3y=5 ; 2x=Sy=9 :gﬂd’c,,zg)ﬁﬁiffuiuuxuﬁutg(dl) 8

Solve the équation by Cramer’s rule me.lhod it possible: x=~3y=5; 2x-5y=9

._g,..b-a}bmb/‘:. S C B A n 8y BUlis mBC = 4cm «mAB = 3cm AU ABCaLLL (o)

In a right triang lc ABC, mAB = 3em, mBC = 4cm with right angle at B. Draw a circle
through A, B,

SRS 112 553 T8 S8 50 LN L g J KA L (L) <

Find the area of a triangle whose sides are 50dm, 78dm and 112dm.
gl 2L C(=6,7) 5 B2, T) A6, 1)sS it (&)
Show that the points A(6, 1), B(2, 7) and C(- 6, 7) are vertices of a scalene triangle.
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